1/0 do/dS
H
<

Ratio to ALEPH

133 GeV ee y*/Z (Hadronic
I | I

Rivet 3.1.0, = 14M events

= I E
= E
= AT_;EJ?\ _
= 1 Pythia'$:428 350 =
— --4-- Pythia 6.428'?;5!3.1};:; . =
—  -.¥- Pythia6.428352 :.\:.\s;s;;g;:? -

mcplots.cern.ch [arXiv:1306.3436]

__ A~ Pythia 6.428 353 TR =
~ --o-- Pythia 6.428 354 R =
C - Pythia 6.428 355 _
~ .5 Pythia 6.428 356 i
= Pythia 6.428 357 3
- Pythia 6.428 358 .
~ = Pythia 6.428 359 .
= | | | | | | | | | | | | | =
:l ! ¢ t | 1 1 1 [ 1 1 I | 1 |:
B A -
| T A-- h
— ~*~ ]

N




	Contents
	Page 1


